1 3 3 YpaBnenusi ¢ O/13. Orpanuvenus Ha gorapupm.
n B VpoBeHb CI0KHOCTH **

3ajaHus JUIS ITOITOTOBKH

a) Pemmith ypaBHEHUE
6) Haiitu Bce KOpHH, MIPHHAUICKALINE YKA3aHHOMY IIPOMEKYTKY

1) log,,. (cos2x—cos4x)=0 [-7;0]
2) log,,.. 9_14% =2 [0; 7]
3) log,, (\/gcos x) =1 [-7; 7]

(z‘g)cntx/g)logl3(2sin2 x) [-1:3]

=0
log;, (\/Ecosx)

cosx(2cosx—1)(2cosx—\/§) [-6; —3]

6) 0

log, (\/gtgx)

7 log, (\/gtgx) 0 S
" T Ir
N=7sin x [T’?}

8) (coszx+1)log,s(1-x")=0 [0;7]

9) log 4 (2 sin’ x—l) = log ; sin x [2:3]




